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QUESTION 1

A Solutions Architect is working with a customer which wants to extend their traditional Telco IP/MPLS core network to
an NFV cloud. 

Which NSX-T Data Center feature can be recommended by the architect? (Choose the best answer.) 

A. Distributed IDS 

B. EVPN 

C. Load Balancer 

D. BGP 

Correct Answer: D 

Reference: https://docs.vmware.com/en/VMware-vCloud-NFV/3.0/vmware-vcloud-nfv-30.pdf 

 

QUESTION 2

An architect is helping an organization with the Logical Design of an NSX-T Data Center solution. 

This information was gathered during the assessment: 

There must be a performance based SLA for East - West traffic. 

Which two key performance features should the architect recommend? (Choose two.) 

A. Configure N-VDS enhanced Data Path 

B. Install advanced Edge pNIC Features 

C. Setup RSS to leverage multiple cores 

D. Leverage DPDK drivers 

E. Enable GENEVE Offload 

Correct Answer: CE 

 

 

QUESTION 3

Which three assessment findings are part of a Conceptual Design? (Choose three.) 

A. risks 

B. host names 
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C. justifications 

D. constraints 

E. assumptions 

F. vendor model 

Correct Answer: ACD 

 

QUESTION 4

Which NSX-T feature is used to allocate the network bandwidth to business-critical applications and to resolve situations
where several types of traffic compete for common resources? (Choose the best answer.) 

A. Network I/O Control Profiles 

B. LLDP Profile 

C. LAG Uplink Profile 

D. Transport Node Profiles 

Correct Answer: A 

Reference: https://docs.vmware.com/en/VMware-NSX-T-Data-
Center/2.4/installation/GUID-9A8FD62AF099-4329-8220-6D5853F9A62D.html 

 

QUESTION 5

What selection is the key design benefit provided by a dedicated Edge Cluster VM or Bare Metal? (Choose the best
answer.) 

A. reduced administrative overhead 

B. predictable network performance 

C. multiple Tier-0 gateways per Edge Node Cluster 

D. support for Edge Node Clusters with more than 10 Edge Nodes 

Correct Answer: B 
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